X1

NBE_ARKBRES=EHN= SHGEN/E
1LHEEDCE T8 (F) =35
2. MEEEIBH BeuMEiR
J.E2EHLED T (B =R
4. ZFFRS MR =R a=
b.3&B® (B APV T TIOUTILFER] RIEEYSY—(RERED fIEl 6=
6.BA=ED_ER % (F) =35

108 O 17 8 B S
No| B (B8] 58 T 8RB % P
1 1 B | 9:00|BAED0MEE] BRESESNNE2S RS Buttyy-
21 3 | W | 9:30(¥VhJz1 200 38B|EBLREE
3| 4 | K | 13:30| EPIESEsSPHUERE 200 698|131 711%-
41 8 | B | 8:30|3NBLIK -YL5m — ARINZR
5 10 | W | 9:30|¥hJ1 (BRR{K1#10:00~) =)0 38B|EBLREE
6 [11/12[k/AN 8:30|—8Bh%1T FIEER) 200 363 |ILERD
T 13 | & | 9:30|7 3N T IIDPRAE[HZE) woEE B
8| 13 | & |10:00|S#EHBHZEE (FIET) YV /NS
9 14 | L | 9:30|BIKRS[/N\1E+t] SBDEERDBIN=] — AR \DERE
101 17 | X | 9:30(¥VhJ: 20 b3B|EBAREE
11 19 | K [10:30| S#rBBLBELZEARAUMXESEH yNiiai]
12| 20 | & | T:30|_ABB/(CAAKRE] 1-281) 200 1638|6E-RIEAE
13| 22 | B | 8:30| —AKRZEEIINY YV /NS
14 24 | X | 9:30|¥Vh71 (1 J/\ETAER:30~) 200 ATS|EBLAREE
16(27/28% /1] 10:00| =L IR TBIFRIR R YV1)N—=D
MmN B O 17 8 &E 8
No| B [RBB]| 58 7T 8RB 1% P
1 1 | 7K [ 13:30|ERI= [RERERE 17574808~
2| 173 |7K™%{ 10:00 |53 %H LR (MEE) meeutt Yy —
3| 4/5 [+/8]10:00 |MZ={L R R1T718-
41 6 | B [10:30|f&EXE (10FES) FDHENREE
5l T | X | 9:30|¥VhJz EZBNEE
6 1 | = |10:00 [\-NII5EEE JR1710Y5-
T 14 | X | 9:30|¥hJ1 (RRRIAREE10:00~) EZBNRE
8| 16 | KA | 8:30|5#BBILELZETAE BHNEAR R—h Xyt xd
9| 17 | & | 8:00|_AEER(ER0I1-2:381 ) HE-REAE
10 18 | = | 9:00|3NdL\IE-3v7" (91-735')-) SBNAREHID
1"l 21 | X | 9:30|%h71 EZBNRE
12| 25 | £ |10:00 |FTERREHIR AR N\IERE
131 28 | N | 9:30|¥Vh7z (1 J/\ETJ{K#ERI:30~) ZRNLRE
14(28/29 /K| 9:00|HiZEESHES £5 1 &2
1 {EGBE A\ ---11838 (&) 13:00~15:00

E@RkLE---11858 (8) 12:30~

_‘I_




2 A 0O 13735 FE

No| B |123| 158 7T 8 R B 1% Ph
11 3 | 8| %00pO-"JTKkKE (R— Vi ERER) _ARRREE
21 5 | W | 9:30|¥pJ1 EZRNREE
3| 6 | 7K | 9:00|EHI= 920~FE3EE‘73‘7<%J J155408-
41 6 | K |[10:00|=EHE [ZEEREXS IR1°748-
5 12 | W | 9:30 *J‘WWI(@E%NMO.OON) EBNREE
6| 15 | £ | 8:00|"EEREE 4-5-631 ) H2-RIEAE
T 19 | WX | 9:30(¥VhJz EZERNREE
8| 26 | XN | 9:30|%vhJz (LJ/\ETJIEERS:30~) EBNRE
9 31 | B |23:00|HFER AR\
() - — 3
ZHHMEREE
hiz<Lizsld
* 2D WVWCEITSELWEHFLNETBEZDIDEL LD,
¥ =FENEFD.BL\BEBZBTELLD.
x  BAZEEL.ENUVGEKEHEDDETEZEDINDEL LD,
x HEBEZSO.BVVNDEBTELLD.
¥ BRTC.HBIELLVEREZDIDZELLD.
—— X F




